RN-60A0

EANEES .
1220 1—NAB158 (#E2) = EBHZEESLHKE
240 760 220 T |
HEEEARIL ~FL
Q @ 14) 3 il
e S A | B5E
} ENGE
l - ELEE 17 ke
g g 0 | < E $5400 (£3. 2)
| * Frvh—2E $S400 (t4. 5)
| ——=
\ R ENE EREND O
(2R EmEA] } 278 - HDZ45
e D sl — S8 PR BE - EE - BEERE
S XERESEERIL M 3 mﬁlﬁg—;ﬁ 2.0 G
100 % 1020 100 HWBEEAL b EREND =
M10x40L  (SEWx2, NTx2f) 4 48
BiREAEERIL AREHND -
M10X60L  (SEW, £W, NTx24) 4 48
<fEE>
BRI —L BREV—L 1. =& DM
EESKTKFERCRELTIEEL,
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 2 REREQ-OULOEHTTEE
=] % — NS E — o] TETHHENBYET,
I / | I |
o | | | |
S -/ i = f—————————— =
3 K g J =
) B3 = S
<F o h—FTHEE (RAFD) > SCALE= 1:25 LRIV
7 o h—& B A KA 7 o h—&BET (B) SMBEIEIE 7 o h—&BE{TE (C) SMEIRTAE FUH—SBELTFIZRSA RS€T
LRIVERELET,
BELAROELIFICIFERLAENT
<rEEb. 5| B WETRE
1162 1300 1162 ‘ FUn—FIL b GEHE - 55) =
BERTUA— M2
e [l : EMBEHAAHFEE : 90ml L
g @ 3 T
< < s -
5 1 Q 9 I(_ /\W E
: —A & %178 AR | Bt | #E
7 oh—RIL R 7 oh—RIL \F vh—HRIL+A % 99 01.26 i NE NE
(4-16x26E7L) (4-16x26E7L) (4-16x26E7L) S/ =
$ & 4Rt
‘ E#:J % [3—NAROG68#B1-—3

A3 SCALE=1:10



